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AC |SP 1 Maz 1 4 1 200 200 -3 4,9 ‘ 41 2,6
AC[SP 3 Maz 2 4 1 200 200 - 35 123 | 39 7.6 0,34
AF 100 Tif 3 4 0,7 250 200 — 21 15 | 1,65 105 0,3
AS 4120 Tu 4 4 1 200 100 — 1.3 3 | 08 3
HP 4101 ¢ Tu 4 4 1 250 100 — 2 35 | 06 3,5 2
KTZ 41 MOG 5 4 1.5 250 250 — 15, 18 | 525 12 1
MS 4 B MOG 4 4 1 200 80 -1 3.4 ‘ 1,2 32 i 0,35
MSGJLA Cos 4 4 1 150 80 — 15 52 ’ 1,8 375 0,2
MSP 4 MOG 1 4 1 200 100 — 1,75 3 1 2,4
MSP 41 MOG 1 4 1 250 240 — 4 85 . 35 32
MS|Pen Cos 1/2]4 4 1 250 125 — 2 5,4 1,7 2,8 0,6
C0-182 cccp 4 4 1.1 240 100 -1 7 2 2,5 0.8
SP48B eur 2 4 0,65 250 250 — 2,4 4 1,5 3.4 2
SP4C Mul 2 4 0,65 250 250 -2 45 15 4
SP 41 Maz 6 4 0,95 250 250 - 217 111 . 28 8,5
SP 42 Maz 6 4 0,95 200 115 — 1,250 16 | 4 9 1,85
SPT 4 Fer 4 4 1 200 100 — 2 55 2 2,6 1
4 TPB Cos 2 4 1 200 150 -3 12 | 25 8
5 Al128 B STCE 4 4 1 250 100 — 15 3,9 ‘ 3 0,8
8 A1 Bri 1/4 4 1 200 100 0 35 ¢ 07 4 | 06
41 MPT Cos 1 4 1 250 100 — 15! 12 1 2 4,8 0,2
42 MPT Cos 1 4 2 200 200 | - 3 34 . 65 8,5
42 SPT Cos 1 i 4 2 250 250 © —1051 64 . 16 11

Equivalents
AS50B ER = SP 4B SSHP 1 AC §S ~ HP 4101 ¢
ACHG Grh~ MS 4 B TF 44 Dar = SP 4B
ACVS Grh~ MS 4B VPT 4 Fer =~ SPT 4
MS[Pen-A Cos = MS/Pen 4 TSP Cos = 4 TPB
MS|Pen-B Cos = MS/Pen 450 AC Pix =~ MS 4B
SS 41 SGAC §§ ~ MS48B 4046 A STCE = 5 A/128 B
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